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SECTION - I '
Note: 1) Answer all the questions. 2) Choose the most suitable answer from
the given four alternatives and write the option code and the corresponding
answer., 15X 1 =15
In the electrolytic refining of copper, which one of the following is used as anode?
a) Pure copper b Impure copper ¢) Carbon rod  d) Platinum electrud
In diborane, the number of electrons that accounts for banana bonds is &_

a) six b) four c) two d) three

Among the following, which is the strongest oxidising agent? - ¥
a) Cih b) F3 c) Bray d} In,
Whlch of the following n:-:ldaticn states s most commen among the lamhahaids?'
a) 4 b) 2 c} 5 « d)3

How many geumetric:al Isomers are possible for [Pt [F'v} (NH3 ) (E'.r} {{:a’u?
a) 3 b) 4 c) 0 d) 1
The number of octahedral void(s) per atom present i in a :ublc clcse.packed structure

is a) 3 b) 2 €)1 )4
The unit cf rate constant for a first order reactmn iShe, % '
a)mol L"1s71 . b) Lmol 151 ¢) L2mol2s7! dys1

The agueous solutions of sodium formate, amimnﬁ‘n chloride and potassium cyanide
are respectivaly

a) acidic, acidic, basic b} basic, acidic, basrc c) basu:, neutrai basic d) none Uf these
Among the following cells It

I) Leclanche cell II} Nickel ~ cadmium cell

I1T) Lead storage battery i'uf) Mercury cell

Primary cells are -

g) Iand IV b) I and III c) 11T ands W d) IT and 111

Which one of the following statément is not correct. .

a) The value of equilibrium constant is changed in the presence of a catalyst in the
reaction at equilibrium :

b) Enzymes catalyse. fainly b]‘ﬂd'remlcaI reactions.

c) Coenzymes increase the catalytic activity of enzyme.

d) Catalyst does not initiate’any reaction.

Assertion: Phenol is more reactive than benzene towards electrophilic substitution
reaction.. ..

Reason: In the case of phenol, the intermediate arenium ion Is more stabilized by
resonanee, .

) If both, assertion and reason are true and reason is correct explanation of assertion.
b) if.both,assertion and reason are true but reason is not the correct explanation
af. assertlun

c)iassertion is true but reason is false  d) both assertion and reason are false.
Which one of the following reduces tollens reagent

a) formic acid b) acetic acid ¢) benzophenone d) none of these
When aniline reacts with acetic anhydride the product formed is

a) o - aminoacetophenone b) m - aminoacetophenone

€) p - aminoacetophenone d) acetanilide

On hydrolysis of starch, we finally get

a) glucose b) fructose  ©) both (a) and (b) d) sucrose

Nylon is an example of

a;} polyamide b) polythene c) polyester d) polysaccharide
2RM 12 - Gafuiwed EM Page -1
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Answer any six questmns and question number 20 is compulsory. 6X2=12
Describe the role of cryolite in the extraction of Aluminium.
What is Zeigler Natta catalyst? and what is its use?
[co(NH,), c1]50, and [CO(NH,), SO, ]Ci g
Give-one test to differentiatasisne—gt crmpbond mP
Calculate the number of atoms in the fcc unit cell.
Kep of AgCl is 1.8 x 10710, Calculate molar solubility in 1M AgNO3.
What is Tyndall effect? -
State Saytzeff's rule?
Why amines are more basic than amides?
Name the vitamins whose deficiency cause i) rickets i) scurvy.

SECTION - III )
Answer any six questions and question number 28 is mmpulmrv 6x3=18
Give the uses of Borax. :
Write the Hume - Rothery rule for alloy formation.
Why tetrahedral complexes do not exhibit geometrical 15ﬁmen5fﬂ?
Identify the conjugate acid base pair for the following reaction in aqueous solution.

i) HS )+ HE = Fi5 + HiS (). il) HPOZA SO PO} + HSO;
29, A copper electrode is dipped in 0.1M copper sulphate solution at 25°C. Calculate the
electrode potential of copper. [Given EPcuyy) ey = 0.34V].

3b. What is promoters? Give an example.

31. How will you convert phenol into phendlphthalﬂrn? *_./ ﬁgr?ﬂq Lormano
\§§> Describe the mechanism of Aldol ¢éndensation.

st i @\ﬁ&&s.@; <%

33, Explain the mechanism of cleansing-attion of soaps. SPIH Hg

SECTION - IV o v YRadustelh
Answer all the questions. 5% 5 =25
34, MGWE the limitations of Ellingham diagram. (2)
() Explain the Froth FTntatmn method for concentration of ore. (3)

(OR) '
(iif) Write a short note ‘on_anamolous properties of the first element of p = block.(2)
(iv) How will.@u identify'borate radical? _ (3)
ﬂj What is inett pair effect? (2)
What arethe properties of inter halogen compounds? (any 3) (3)
" (OR)

Write tl}z oxidation state, ge6rdination number, nature of ligand, magnetic
property and K, [:MH(CN} J Eiectrcni:: configuration in octahedral crystal field for

eicomplex. (5)
,)What is meant by the term “Caﬁrdlnath:m number”? - (2)
| -ﬂ]} Glve any three characterestics of ionic crystal. X ot
(OR)Aii) Define pH. (2)
_- () Derlve Henderson equation. w &)
r (A7. () Write a note on sacrificial protection. . f2)
i) State Faraday's Laws of electrolysis. (3)
(OR) Differentiate physisorption and chemisorption (any 5) R
38, Write short notes on the following.
£ f,htj Gabriel phthalimide synthesis (B(Cmnpling reaction, (5)
" (OR) (i) Write a note on vulcanization of rubber. (2)

(ii) Give any three dtfferem:es between DNA and RNA. (3)
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Time: 3.00 hrs. Part -1 Marks: 70
|. Choose the correct answer: 15x1=15

1 The Half Life period of a first order reaction is 5 minutes, the time required for
99 9% campletion is nearly equal to
a) 999 minutes b) 4995 minutes ¢} 50 minutes d) 10 minutes
2. What is the pH of the resulting solution when equal volumes of 0 1 NaOH

HC| are mixed?
a) 2.0 b) 3 c) 70 d) 12.6
3. Among the following cells
I} Leclanche cell I Nﬂﬁﬂaﬂm-u’@
d) §l &

i) Lead Storage battery V) Mercury cell

Primary cells are .

a) 1&IV b) 1&MI c) M&w
4 Among the following which one is example for Sol oid

a) Fog b) Froth c) M Paint
5 Which of the following oxidises Glycerol into id?

a) con HNO, b) Bi(NO,); d) HIO,

6 Which one of the following réduces tollea’s
a) formic acid b) acetic acid

7. Which of the following amines d acetylation?
a) t-butylamine ) ethylamine
c) diethylamine ) triethylamine
8 Vitamin BT is also kno '

c) folic acid d) thiamine

a) biotin b) Kine
9 The mixture of chlagoxyle terpenicol is used as
' ' ' ot c) antibiotic d) analgosics
10. the following is
S process
b) Ti by Van Arkel's process

is concentrated by froth flotation
rgy of gold, the metal is leached with dilute NaCl solution

alloy of
b) Cu. Al Mg c) Al Mn d) Al. Cu. Mn, Mg

1"

a) ;
12\ The'number of bond pair and lone pair present in AX, type interhalogen compound
3 b) 32 ¢) 51 dy 70
rmanganale ion changes 1o in acidic medium
a) MnO* b) Mn?* g) Mnd* d) MnO,
14 A magnetic moment of 1,73 BM will be shown by one among the foliowing
a) TiCl, b) [CoCly* ) [CuiNH " d) [NKCNY, -
15 The vacant space in fcc latice uni cell is
a) 48% b) 23% c) I2% d) 26%
Part - 1l
II. Answer any 6 questions, (Q.No.24 Is compulsory) Gx2s12

16 What are the limilations of Ellingham diagram?

| 17 ‘Whalt happens when PCl, is heated”

L &
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: (2} Al Chgmistry
18 Wirite down the central metal ion and ligand preseént In Coordinatian complex
[Co{NHyJ,] Cly
19 Give two examples for zero order reaction
20 Give any two differences between Lewis acd and L
21 Exptain Tyndall effect
22 Draw the molecular structure of Aspinn moiecule
23 Write down the equabon for Hofman's degradabon
24 An organic compound (A) having molecular formula CyHsO s healed with Zin
amalgam and hydrochloric acid produces compound (B) having molecular for
C.H, Identify A and 8

ows bass

Part - Il
Ill. Answer any 6 questions. (Q.No.33 is compulsory)

3
25 Differentiate Double salt and Coordination complex
26. How will you identify borate radical?
27 What are the consequences of Lanthamide contraction?
28 Write down the Bragg's equation and explain it Q

29 Define Corrosion? How do you prevent corrosian?
30 Write down three characleristics of catalyst

31 How do you prepare Terylene? Mention its use
32 Draw lhe structures of cellulose and sucrose.

33 An organic compound (A) - C4H,0, used as n nt. which on oxidation
with Fenton's reagent gives a mixture of 5 C identify A, B and C
White possible reactions

IV. Answer all the questions. 5%5=25

34 a) Expiain the principle of electroivic : metals with silver as an exampie.  [5]
b) s for the reaction between chlonne with cold

se auil'mnﬁ. 12
a5 a) omensm with an example i3]
tes on “Chromyl chlonde” expenment, {2l (OR)
b) y and Frenkel defects? I5]

36 a) i) Wrie down the differences between order and moleculanty (3]
il).#“in MMHMWMd%w%{W‘Q 13]
b) @ Faraday's first law of electrolysis? (2]
per elactrode is dipped in 0.1 M copper sulphate solution at 25°C
Calculate the electrode potental of copper, [Given E%.' =034 V]
Describe Intermediate compound theory of catalysis. (5]  (OR)

b) 1)  How,will you convert the following? 13]
1) phenol — benzene  2) phenol — aniline
i) Wnite any two usas of anisole. (2]
38 a) ) Explain Popofl's law (2|

i) Write a short notes on Gombery reaclion and “Leyne and Hauser’
acetylation, 3] (OR) .
bl 1) How carbohydrates are classified [3)
)  Write a short notes on HVZ reachion

LALE L L
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Answer all the questions. Choose the correct answer out of the fullnwil:lg choices.
Which of the following oxidation states is most common among the lanthanoids?.
a)+2 b)+3 c)+4 d)+5

After 3 hours 1 kg of a radio active substance is disintegrated leaving behind 62.5 gof the
substancei then its half life period is : :
a) 30 minutes b) 45 minutes ¢) 60 minutes d) 120 minutes

H,PO," is the conjugate base of a) PO b)P,0, ¢ H,PO, d)HPOz2 :

Natural rubber has a) alternate cis-and trans-configuration b) random cis -“and trans -
configuration c) all cis- configuration d) all trans- configuration >

Which of the following is not likely to act as the base? a) BF, b) PF, € CO d)F-

Hair cream is a) gel b) emulsion c) solid SO1 d) sol

Which kind of isomerism is possible for a complex [CO(NH,), Br,JC£?  a) geometrical and
ionization  b) geometrical and optical c) optical and ionization'd) geometrical only

Which of the following observations from Ellingham diagram is not correct?

i) Oxygen gas is consumed during the formation of metal oxi

oxides like MgO, HgO a) () & (i) b) (0 & (i) - e) (i) & (i) d) Giii) & (jv)

A solid (A) reacts with strong aqueous NaOH liberating a foul smelling gas (B) which
Spontaneously bum in air giving smoky rings. (A) and (B) are respectively. _

a) P, (white) and H.S b) P, (red).and PH, © S, and HS q) P, (white) and PH,

Which of the fallowing electrolytic solution has the least specific conductance?
a)02N b)o2zN €) 0.002N d)2N :

The correct ascending order of basic stren
s ) RNH>RNH,> RN > NH, b)NH
N

Ifone strand of the DNA has the sequence ‘ATGCTTGA" then the sequence of complementary
strand would be a) TCCGAACT b) TACGAACT c) TACGRAGT" d) TACGTACT
The stability of +1 oxidation state decrerjses}l_ra the; siqgmi - éa i
Tl b)in<Tl<Ga<Al ¢)TI>In>Ga > In

a)Al<Ga<In<Tl b) A

.No. 24 is compulsory. _ Bx2=12
#ﬁzs"::el;::yo?;:f;?:é {guncentrated by froth floatation method? Give two examples for

ic

»
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17.
18.
18.

20.
21.
22.
23,

. 24,
25,
26."
27.

28,
29,
31,

32.
33.

35.

37,

38.

such ores.

What are Zeolites? Give their general formula,
Which is more stable Fe* (or) Fe*. Explain.

Write any four differences between crystalline solids and amorphous solids.

Write Arrhenius equation and explain the terms involved.
State Kohlraush law. '

L § #
Suggest a suitable reagent to prepare a secondary alcohol with identical group using grignard
reagent. Write the equation, :

How do antiseptics differ from disinfectants?
Define equivalent conductance.

PART - lli

Answer any 6 questions. Q.N.33 is compulsory. | 6x3=18

Describe a method for refining nickel. '

ﬁnmplete the following reactions : i) NaG) + MnO, + H,SO, — ii) Mg # HNO,. - iii) XeF, +
[ S ' ' \ ;
2

Write the formula for the following coordination compounds.
i) Potassium hexacyanido ferrate () iiy Penta ammine nitrito - K - N-Caobalt (lil) ion
iii) Sodium tetra fluorido di hydroxido chromate (| I}

What is an elementary reaction? Give the differences
reaction.

batwe_zeﬁ order and molecularity of a

An organic compound (A) C.H,N when treated with nitrous acid, gave an alcohol (B) and N,
gas. (A) undergoes carbylamine reaction to give (C) which on reduction gave isopropyl
methylamine. Identify the compound (A), (B), (C) and write the equations.

PART - IV
Answer all the questions,

a) i) Describe the role of Cryolite.in the extraction of a
floatation.(2) (ii) Whatis inorganic benzene? How it is prepared? (3) (OR)
b) i) Give the uses of helium, (2) ii) Compare lanthanides and actinides. (3)

a) i) On the basis of VB theory explain the nature of bonding in [CO(C,0).] (3)
if) Write a short note on n-back banding in metal carbonyls. (2) (OR) -

b) (i) Calculate the percentage efficiency of packing in case of body centred cubic crystal. (3)
(ii) Write the rate lawfor the following reactioris

a) A reaction that s 3/2 order in X and zero order in Y, b) Areaction that is second order in NO
and first arder in Br,. (2) - :
a) i) Define pH. Calculate the pH of 0.04 M HNO, solution, (3)

i) Write any two tests to identify the two types of emulsion (2) (OR) _

b) Write a note on i) Galvanic cell notation of Danie| cell (i) Merucy button cell (2 + 3)

a) i) Arrange the following in the increasing order of their boiling point and give a reason for
your ordering. Butan-2-ol, Butan-1-ol, 2-methyl propan-2-ol (2)

ii) Explain the mechanism of aldol condensation. (3) (OR)

b) i} Amines are more basic than amides, Why? (2) _

i) Write the equation for the following reactions.(3) a) Hofmann's Bromamide reaction

b) Diazotisation ¢) Gomberg reaction

a) (i) How is Cinnamic -acid prepared? (2) ii) How are hormones classified? (3) (OR)

b) Explain the mechanism of cléansing action of soaps. (5)

35 5x5=25
uminium and sodium cyanide in froth
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PART-A
Choose the best answer: 15x1=15
1) Electrochemical process js Used to extract -
a)lron b) Lead ¢) Sodium d) Silver
2) In boric acid, [BO;1™ units 4., jinked by
a) lonic bond b) Coordination bond
¢) Hydrogen bond d) All the above
3) On hydrolysis, PCl, gives
a) Hapn?th mnnw'm PH, ¢) H,PO, dyPoCl,
4) Which of the 'Ng has halr filled electronic configuration?
a) Fe*? D) Fe+3 ¢) Mn*? d) Mn*#
5) Fac-Mer isomerism is shown py
+3
a) [CO(en),] b) [CO(NH,),C1,]*
c) [CO(NH,),Cl ] d) [CO(NH,).Cl1SO,
6) SiO, is an example for ‘
a) lonic crystal b) covalent crystal
c) malecular crystal d)metallic crystal

7) The addition of a catalyst during a chemical reaction alters which of the

following quantities?

a) Enthalpy b) Activation énergy~ . c) Entropy d) Internal energy
8) Equal volumes of three acid solutions of pH 1, 2 and 3 are mixed in a vessel.

what will be the H* ion concentration in the mixture?

a) 3.7x1072 b) 1078 ) 0.111 d) None of these
9) Faraday constant s defined as

a) charge carried by 1 electron

b) charge carried by 1 mole of electrons

¢) charge required to deposit 1 mole of substance

d) charge carried by 6.22x 10" electrons
10) Which.of the following acts as a catalyst in the hydrolysis of ethyl acetate?

a) C,H,OH b) CH,COOH c) H,0 d) C,H.00CCH,
11) Isepropyl benzene on air oxidation in the presence of dilute acid gives
a) C,H.,COOH b) C4HCOCH, c) CH,COC.H, d) C,H,-OH

12) Which one of the following undergoes haloform reaction?
a) Formaldehyde b) Benzaldehyde c) Benzophenone d) Acetaldehyde

13) The product formed by the reaction an aldehyde with a primary amine
a) Carboxylic acid b) Aromatjc acid ¢) Schiff's base d) Ketone

14) ____ iscalled a reducing gygar.
c) Bothaand b  d) Sucrose

a) Glucose b) Fructose

15) Nylonisanexampleof
a) Polyamide b) Fm‘ﬂhene c) Polyester d) Polysaccharide
PART - B 6x2=12

Answer any SIX questions. Q.Ng, 20is compulsory:
16) Give the limitations of Ellinghg : diagram.
m

17) Mention the u
www, waytosuccess, DFgE s of alum, 7 wisteam 100@gmail. com
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?
C ?
Ll 218} What is coordination number
19) Define Unit cell. bty by |
20) Write the expression for H'In"d 40Ul . t of Hg,C1,, |
21) How can you prepare a collo cts W tomposition method?
2) What happens when phenc” m:r afings | OUS acid?
23) How will you identify the F;';“a
24) How are vitamins classified: FlRT'E
t‘-ﬂl'l'lpu .
Answer any SIX questions: Q-":i; |:T-12ti|1"-’-' Iahurml:zr:" sx3=(
is phosphine prepar :
o iieih hlaride test.

lc
26) Write about chromy s er
27) What is crystal field stabilisation energy?

slS.
28) State Faraday's Laws of ElECtrDrI;er .
29) Give the differences between 0 Molecularity of ares®on

' catalysis.
30) Write a note on nana .
31) What happens when benzaldehyde F€acts with ammopia?

2) Complete the following reaction:

NH,-OH P04
CH,CHO ———> A— B

33) How is Terylene prepared?

PART-D
Answer ALL the questions: = 5x5=25
34) a) Write a note on (i) Froth floatation process (ii) Fullerene.
(OR)

b) i) What happens when ghlorine reacts with excess ammonia?
i) How will you prepare bleaching powder?
35) a) Compare lanthanides and actinides.
| (OR)
b) Discuss briefly themnature of bonding in metal carbonyls.
36) a) i) Explain metal excess defect.
il) “Write Arrheius equation and explains the terms involved.
(OR)
b) Derive an expression for the hydrolysis contant and degree of hydrolvsis
of salt of strong acid and weak base.
37) @) ') Write about Galvanic cell notation,
) Define Gold number.  (OR)
b) How can you convert?
) Ethane- 1, 2 - diol —» Ethanal
i) But-2-ene — Ethanal
38) a) i) Whatis tautomerism? Explai® With an example.
) What are antiseptcis?
| {DR]‘
©) Discuss about the strycture of 9'Ucose.

-——
-
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CHEMISTRY
PART-I

Time Allowed: 3.00 Hours

L Hniae:_i) Answer all the questions.

Iguhgﬂ_niamnmmmnn.Examlngﬂggg
Second Revision Test - January 2023

L)

Maximum Marks:; 70

15x1=15

ii) Choose the mosta ppropriate answer from the given four alternatives
~ and write the option code and the corresponding answer.
1) Which of the following reduction is not thermo dynamically feasible?

a) Cr:,g3+.'-lhl - A?IDE+2Cr

S - I 3+2Cr — Cr,0,+2Al

2) Producer gas is .
a) H,+CO b) CO+N,

3) Matchit:
A) Hyponitrous acid - i) +7
B) Pernitrous acid - i) #1
C) Pernitric acid - i) +2
D) Hydronitrousacld - iv) 45

A B C D
a) (i) (i) (i) (i)
) (v) () (W) (i)

€) H,0+CO

b) 3TiO,+4Al — 2Al,0,+3Ti
d) None of these

d) None ofthese
'

A B C (8

b) (iv) () (i) | (i)
d) (iipafivy, (1) (i)

c
4) Which of the following lanthanoid ions is diamaganetic?

a) Eu?* b) Yb2*

c) Ee?*

d) Sm**

5) A magnetic moment of 1.73 BM will be shown by one among the following.

a) TiCl, b) [COCI ]*

a) 48% b) 23%

: ¢) [Cu(ns,),1**  d) [NI(CN),I“
6) The vacant space in bcce lattice. unit cell is® .

c) 32% d) 26%

7) For a first order reaction, the réte constant is 6.909 min~!, The time taken

for 75% conversion in minutes is

3 2 ) 3 3 [2 4

a) 5 |log2 b) 3 log2 c) 3 log {EJ d) E] log 3
8) H,PO3 is the conjudate base of

a) POy b) P,0; ¢) H,PO, d) HPOZ"
9) The cell emf value forimercury button cell is :

a) 1.5V . b) 1.35V c) 1.8V d) 2V
10) Which one of the following is correctly matched?

a) emulsion - smoke

b) gel - butter

c )'feam - mist
- d) whipped cream - sol _ .
11)Glycerol on oxidation with gives formaldehyde and formic acid.

a) Conc.HNO b) Br,/H,0 c) HIO, d) KMnO

12) In which -_::’r'fc:slluw'ing reaction new carbon-carbon bond is not furme,cf?

a) Aldol condensation

c) Kolbe's reaction oH (4-5)

a) p - hydroxy azobenzene
¢) p - hydroxy phenyl hydrazine

b) Friedal craft reaction
d) Wolf - Kishner reduction

POl 1 SO

b) p ~-amino azobenzene
d) 2 - phenyl azo 4 - methy! phenol

14) Which of the following vitamin deficiency causes muscular dystrophy?

a) Vitamin K b) Vitamin E c) Vitamin A d) vitamin B
15) Which of the following is not a bio-degradable polymer? .
a) PHB b) PGA c) PCL d) HD
PART -11

. Answer ANY SIX questions. Question No. 20 is compulsory:

6x2=12

16) Explain the following terms with suitable examples.

(i) Gangue (i1) Slag J
17) What are the uses of phosphine?

18) Write the electronic configuration of Ce

WWW waylosuccess, org 9
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19) Classify the following ligand based on the number of donor atoms.

a) NH. b) en ¢) Ox* d) Pyridine

20) The aétlvatmn energy of a reaction is 22.5 K.cal mo!‘1 and the value of rate
constant at 40°C is 1.8x10°% s7!, Calculate the frequency factor A,

21) What Is HVZ reaction?

22) Complete the following reaction:

) CHNH, + HNO, ————3 1) CHNH, + HNO,

23) What is the selective reduction of polynitro compounds?
24) What are fat-soluble vitamins?
PART - III '
III. Answer ANY SIX questions. Question No. 30 is compulsory: 6x3=18
25) Give short note on Calcination. .
26) What Is the hybridisation of lodine in IF.? Give its structure.
27) What are the uses of coordination cnmpf&xes in medical field?
28) Calculate the packing efficiency of face - centered cubic lattice (fcc). |
\ 29) What are elementary reaction? Give the differences between order and

273K - 278K

molecularity of a reaction. ) ' 0
30) Calculate the concentration of OH™ ion in a fruit duice, which contains
2%107*M H_O* ion. Identify the nature of the solution.
31) Differentiate Vanderwaals adsorption and aetivated adsorption.
32) How will you differentiate 3 types of alcohols by catalytic hydrogenation reaction?
33) How will you conduct the following changes? . °
a) Acetone — Diacetone amine SV Lo, M,

b) Formaldehyde — Hexamethylene tetramine <" o
¢) Benzaldehyde — Hydro benzamideé e =541 Roveo M

| PART - IV Va{lonn. 42 08259
IV. Answer ALL the questions: 5x5=25
34) a) What is Autoreduction? . . T e lwadd DISH (2)
b) Explain the zone refining process. s (3)
(OR)
¢) Complete the following reactions: 4000°C (5)
(iyZn+HCl = (i) SIO,+4HF— (iii) Xe+F, N
(iv) HCOOH+Conc.H,80, - (v) Cu+4HNO, —
35) a) How Cl, is prepared by Deacon's process? (3)
b) Which i§ mnre'hasic.ta{DH](lband Lu(OH),? Why? (2)
R)
c¢) Whatis Linkage isomerism? Explain with an example. (3)
d) What is crystal field stabilization energy? (CFSE) (2)
36) a)  Give short note on Schottky defect. - (3)

b) An atom crystallises in fcc crystal lattice and has a density of 10g cm™
' with cell edge length of 100 pm. Calculate the number of atoms present
in 1g of crystal. (OR) (2)
£) Derive integrated rate law for a zero order reaction A — product. (3)
* d) The rate constant of a reaction at 400k and 200k are 0.04 and 0.02s™*
respectively. Calculate the value of activation energy. (2)
37) a) Derive the Nernst equation. (3)
b) A solution of Silver nitrate is electrolysed for 20 minutes with a current of
2 amperes. Calculate the mass of silver deposited at all cathode. (2)

(OR)
c) Describe some features of catalysis by Zeolites. (3)
d) Write short note on catalytic poison. (2)

38) a) Adibromo derivative (A) on treatment with KCN followed by acid hydrolysis
and heating gives a monobasic acid (B) along with liberation of CO,. (B} on
heating with liquid NH, followed by treating with Br./KOH gives (é} which
on treating with NaNO,, and HCl at low temperature followed by oxidation gives
a monobasic acid [thavlng molecular mass 74. Identify (A) to (D). (5)

by Classify the following as linear, branched or cross - linked polymers. (3)
(i) Bakelite (i) Nylon - 6, 6 (iil) LDPE (iv) HDPE
(OR)

€) Write the zwitter lon structure of alanine. (2)
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